
Three students graduated from university to follow their chosen vocation - doctor, lawyer and scientist. From this information

and the following clues, for each student, can you determine who went to which university, who graduated as which and their

age?

1. The youngest student did not graduate as a lawyer nor go

to University B.

2. The lawyer went to neither University A nor University B.

3. Peter, who did not attend University A, was the oldest of

the three students.

4. The female student was older than the scientist but

younger than the University C student.

5. The University C student did not graduate as a scientist.
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Three students graduated from university to follow their chosen vocation - doctor, lawyer and scientist. From this information

and the following clues, for each student, can you determine who went to which university, who graduated as which and their

age?

1. The youngest student did not graduate as a lawyer nor go

to University B.

2. The lawyer went to neither University A nor University B.

3. Peter, who did not attend University A, was the oldest of

the three students.

4. The female student was older than the scientist but

younger than the University C student.

5. The University C student did not graduate as a scientist.

© AhaPuzzles.com
Answers are for teacher and educator use only. Not for

public distribution. For educational settings exclusively.

Play More Logic Puzzles

ahapuzzles.com/x/logic-puzzles

MORE

BRAIN

STUMPERS

Chosen Vocation
Logic Puzzle

Scientist

Lawyer

Doctor

26

24

23

Mary

Paul

Peter

262423Scie
nti

st

La
wye

r

Doc
tor

Univ
er

sit
y C

Univ
er

sit
y B

Univ
er

sit
y A

Graduation AgeVocationUniversity

Vo
ca

tio
n

G
ra

du
at

io
n 

A
ge

N
am

e

© A
ha

Puz
zle

s.c
om

Mary

Paul

Peter

University BUniversity B

University AUniversity A

University CUniversity C

DoctorDoctor

ScientistScientist

LawyerLawyer

2424

2323

2626

Graduation AgeVocationUniversity

P
la

y
 T

h
is

 L
o

g
ic

 P
u

z
z

le

a
h

a
p

u
z

z
le

s
.c

o
m

/x
/l

p
/2

2

https://www.ahapuzzles.com/x/main/home/?src=ALGPM&evt=copyright-footer/click
https://www.ahapuzzles.com/x/logic-puzzles/?src=ALGPM&evt=play-more/click
https://www.ahapuzzles.com/x/main/home/?src=ALGPM&evt=logo/click
https://www.ahapuzzles.com/x/lp/22/?src=ALGPM&evt=link-widget/click

